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Only because it states; do not gather for the poor

OVERVIEW

X959 27 explained that (it is possible) the reason the 1127 maintain °1¥% 731n°
TWRY X¥MI7 (is not because of "2 1'% oon7), but rather there is a ‘P10
which states *1% vp%n XY, indicating that it is forbidden to gather X5 for the
1y, Our nNooIN explains how this translates to the inability of the "1¥ to
acquire it.

nooIN asks:
— (2,797 NNININT NIP P92 9INT 1N)37 AND ON)

And if you will say; according to the one who maintains in the first p=ap

of 79N noon, regarding -
— 35301 13 19 OX 53017 12aY IX PPN XY N3NNI INT NN 95

Anything which the ‘Merciful One’ orders not to do, if one transgressed
and did it, the task is accomplished; if this is indeed so, the s1y should
acquire the %o regardless that there is a prohibition to gather it for him.

Mo0IN answers:
— P NIT yNYN *onIN 29190 9391 %3y 2905 VPYN RY N2 NINT MY YN

And one can say; that here after the words of wpbn X% (from which we
derive the prohibition for gathering for an °1v), it is written in the 770, ‘you
should leave it for the poor and the convert’; indicating that (even) if
one gathered for the "1y, nonetheless the *1v does not acquire it.

nooIn asks:

"' The 09 in 2,3 (MX) X1P" reads: "3 aNK 210 T32) "I ,VRYN K2 TR VPY) TIXR2 7 NXe A0 &Y. The
simple reading of the p109 is that you should not destroy the corners of your field and do not gather the
gleanings of your harvest; leave them over for the poor and the stranger, etc. However in this 7w77 we join
the words of vp%n X7 to the word *1v, which is interpreted to mean do not gather for another *v.

% One is prohibited to be vmMw an animal on N2 (for instance); if one however, was UMW on Naw, the VMY
is valid and one may eat from this animal (after naw).

? One is prohibited from gathering 7ixs for the "1, nevertheless if one transgressed and gathered for the *1v;
the "1 should acquire it. Why is it necessary to give it TwR1 8¥n17 °1w5?! See ‘Thinking it over’.

* After saying vp>n X2, the 770 repeats and says amx 217N, the repetition indicates that even *Ip X2 72v°72.
[Alternately, the word "1 is read together with vpP2n X7 to prohibit one from gathering for the °1v, and the
word "1 is also read together with anX 21¥n, that if you picked it for an *1v, you are still obligated to leave it
for the other 0™1v.]
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— *195an M3 K97 19530 ANOYM NYAINNT NPYYA XINN 9953) TNINN ON)
And if you will say; so let us derive from here that elsewhere (also)
Y9°277 73R KD 17920 SRR 7hasnn?

Mo0IN answers:
— NN NY2D NINT 900 U

And one can say that here by 7X5 it is logical that the *1v is not mp -
— 18y TLY VPN TN YW NN KN 539 NN NN NIV

For the 1710 limited the right of the "1 to what each "1 can gather for
his own needs, however by 7x°%»n where this X720 is not applicable, the ruling can be

that 177217 773p 17720 RN 7723070 -
— 939 NY 2)N Y¥ah 09NT DIV 19397 11NYVT KON WIDNT XTON 29

However, according to X701 29 who explains here that the reason of the
7129 (who maintain that the *1v is not 71217) is because "1 X% 11''a» o107 -

1995 XINT 1909 NN
We can indeed say that he derives from 7R2, this rule that X? 172n% Ax°¥n 7237
17°an 737 (and also the rule that 73p X2 2087 20w 23pn2 122 09I0).

SUMMARY
The "1y does not acquire the 7%5 because of the repetition of anKX 21yn "3 "5,
We can distinguish between 189 and 7X°¥n regarding 17°21% 7°23017.

THINKING IT OVER

Mmoo asks that even though one is not permitted to be vp?» for the °1y,
nevertheless the 1w should be 7P according to the 7"» of *m T2y XK.
Seemingly the one who is bpo» for the "w is 7211 for the *mm>w ayun 21w, and
by MW there is a rule that 77°2y 7277 YW PR, so therefore the MW is
532 and the *1¥ cannot be 717p!°

5 The case of 79 is similar to 7%°¥7; in both cases he is a XY 2anw 21P»2 1"2% 0910 and in both instances
there is a 17°72n% 1 21 7wdI? 317 1WA (see w"wA). The 71N rules that (not only are you prohibited from
gathering for the "1y, but also that) the "1v is not 71p. The reason for this is presumably because generally
the ruling is 1°2m 73p K7 1717202 AX°¥n 72230 (by nX°xn as well as by 1xD).

® The 7mn commanded us to leave 71X, so that all the 2”1y will have the opportunity to benefit from it. If
however one can be 7127 for another "1y, it is possible that a small group of 0*1¥ may collect X5 for each
other thus denying all the other 0**1v the benefit of ni%5. There is no such concern regarding x*¥n.

7 See footnote # 3.

¥ See previous 091077 71"7 2,8 nvon (TIE footnote # 5) that 731 is MPHw oyvn.

? See 107 mX "2,
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